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1. By selling a cap for Rs. 34.40, a man gains 1. 34.40 ¥Ud ¥ U 24t 994 WX, UH ATGH! BT

7.5% . What will be the CP of the cap? 7.5% &1 ATY gral g | SIdl &1 arTd ged fara
m (

a. Rs.32.80 t 3¢ / SPa,
J/Rs.sz a. 32.80 ¥UQ : 70

c. Rs.32.40 b7 32 300 Cf_iﬁ,x%

d. Rs.28.80 c. 32.40 ¥9Y T e

d.28.80 ¥Ud 7 :Z\;?T*‘
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2. A machine costs Rs. 375. If it is sold ata 2 qa;mﬁqaﬁaﬂ'qﬁ 375 30T 2| uﬁ:gﬂ 20%
loss of 20%, what will be its cost price as a Gl aﬁ U3 997 STdT % ar m faspyg !

percentage of its selling price ? &1 fraar ufa=ra arTa gea g _
- (
a. 80% 3 h a.80% C{:-z3 ____%/ S
b. 120% - X To— b.120% - 7 7--—~—-P
P
110% S S c. 110%
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/125% ---"/ 2 &"“‘/ \/d,----'IZS/a \‘?\f%_
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3. A shopkeeper sold goods for Rs. 2400 and 3. Qaimﬁ 2@omﬁmmq§m aﬁvg'a
made a profit of 25% in the process. Find uferar A 25% &1 FIT'I-I‘Glﬁ’fH fhar| ﬂﬁ.' dg

his profit percent if he had sold his goods QAT HTHTH 2040 Fﬂﬂ‘ﬁ ad d IGBT d1H

for Rs. 2040 . +2 47 ﬁ S yia=Td 1 gRm? {
- ¥ Y ‘:EL{%
3¢ 6.25% Pt Kive. \2/6.25%
b. 7% _?\{-1\3; (luk?\ b. 7%
. 620% =!S3y ~ . 6.20%
d. 65% — ™ d. 6.5%

p ) 27:28/116:30
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4. A digital diary is sold for Rs. 935 at a 4. U&h feforea s/t 10% & @1y WG;S 5|
profit of 10% . What would have been the a1 STl 21 afe 3 810 U H =T AT g

actual profit or loss on it, if it had been ﬁwwmﬁﬁmumirrﬁﬁm:ﬂﬁ?ﬁ?
sold for Rs. 810? J

T “_ D/ SQ 333 a2 45 T
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c. Rs.48 EL&“ d. 50 ¥
-
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makes a profit of 15%. He sells another TV 3R 15% HT aTH Mﬁﬁr Hdl o | 98 T it

at a loss of 10%. If on the whole, he 10% BI< W 991 g1 afe oo AdareH, I/ 7
(
neither gains nor loses, find the selling dal 1Y gia1 g 3R 9 8 g1, al g‘éﬁ ardt |e

price of the second TV set. &1 faspa geg J1d Sifore|
_ + 1 S/ SP=3 700 -

a. Rs.4000 YO @ a. 4000 $9Y

b. Rs. 4400 Ao e~ b. 4400 FTA

c. Rs.4050 ~Sovo /4050 ¥TY

d. Rs.450 . d.450 ¥l
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6. A makes an article for Rs. 120 and sells it 6. A 120 ¥Ud H U® CESEERIGH g R G'\QLZS%JQ?
to B at a profit of 25%. B sells it to C who iy Q¥ Bﬁaﬂ?ﬂgl BE’QC aﬁaam%, o
f sells it for Rs. 198, making a profit of 10%. 34 198 ¥UU H S9dr g, 3T I/ 10% HT &TH |

What profit percent did B make ? ﬁ?ﬂ%l B A fa=r ufa=ra ey sifefa faar
e W 4 5%

- R — =

. b’b \ D/ a. 25%

\J/ 20% /) &ZO ) b 20%

c. 16.66% -t “Lgﬁ‘)(-..\ c. 16.66%

d. None of these ““/?\)ﬁ)—fﬁ d. Eﬂﬁﬁﬁ'{qﬁ

P ) 5926/11630
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